(B) 10.30AM

@ 11.00 AM

(D) 11.30AM

=4

In covering a distance of 30 km,




PGPS 3 20w g said, ‘He's

e s o e ssughter of the father

iy SR | NOow smmm




odl .
!

12. Total sales of branch B6 for both the
mhﬁdmﬁﬁ”tﬂﬂﬂ

. :; ches '“t“n““-ﬂllﬂﬂﬁ

hin Company in2000and 2001.  13. What is the average sales of all the 5
hmnches(hmMmbert}fnr ; b
mmrzmu? "'-'”f, a, >- BT

. I @ 73 cﬂ, 7 o 1,
-m-m i e . ¢ ) A y =
- (c) 83
11. What is the ratio of total sales of
(D) 88
Branch B2 for both the years to the . »
14. Total sales of branches B1, B3 and el
tohlsalesafbmnch__ﬂ_f_forboththe - gl
' B5 together for both the years (in "'4-""‘.-
yas? P 4 . [
7 thousand numbers) is :
2:3 : - "':' L o 2
A) ?) 250 [§4°4 205" 4 175 »
(B) 3:5 ® 310 ((_@ -;.'-"‘“"'"'
{C) 4:5 (c} 8
() )7:9 o O} 560

5 KK-2D/32 (4)




Srection (0. Nos. 16 to 18) : In the B e L
r (C) Either (a) or (b) follows ~
| guestions two statements follow two —

‘ conclusions, which of the conclusion 0) m(a)m(b}'hm

follow the two given statements ? 18. Statements : Some papers are

- 16. Statements : Some actors are pens. All the pencils are pens.

singers. All the singers are dancers : % C@hl'
Conclusions : .

é i ?ﬁ? ‘
Conclusions : 4
x__) (@) Some pens are pencils.\,~"

. (2).~ Some actors are dancers. : :

_ (b) Some pens are papers, \—"

(b) Nosingeris actnr.)( v '
i (A) Only (a) conclusion follows

\@ _-Only (a) conclusion follows

; (B) Only (b) conclusion follows

(B) Only (b) conclusion follows

(C) Either (a) or (b) follows (C) Fiher i) or )

O) Nether (a) nor (o olows (9 Both 0 3 ol

KK~ 2013, (5) (Tum over)




(B) 65

(C) 6.75

o7

Xt on ' jrand-
22. A family consists of Mokq___ )
parents, two parents and lﬁmegrind-
children. The averaga aﬁe of tha'
grandpammu iss‘r'yeau mafofm .
.paramsb.as yaars and tﬁatw

i = BT

.ammgeag&efﬂﬁt _‘ '

P b
,555 of the following pairs of (A) 23-—— years
P i’ﬁﬂnke:s advocated the doctrine and . V% $acy

31 years
practice of Sarvodaya ? O 7 yﬁ \2¢

=3

A) Gandhiand Marx c 32_

(A) (C) - years ”""“‘*Hﬂ"ﬂ-l’r x
(B) Gandhiand Tilak (D) Noneof -— .“._, g h
) - : g

((C) /Gandhi and Vinoba — ___-;335!'
i 23. 3pumps, wodcfﬁg 8hoursa day can

(D) Gandhiand Bose empty a tank in 2 days. How many

21. Inthe first 10 overs of a cricket garhe, hours a day must 4 pumps work to

the run rate was only 3.2 What should empty the tank in 1 day ? ’g
be the run rate in the remaining (A) 9 LRI 2 |
40 overs to reach the target of 282 I(g) 10 X | 1YL 1|
32 Yo 2<e * 1N
: 6.25 | 12. ¢~ O
¥ D) 12
& N~ )
KK - 2D/32 (6)



“

¥octive word (o fil in the blanks.

o hsaw o of cows in the
fleld

(A) group
(ﬁ)} herd
(C) swarm

(D) flock

. 20 The grapes are now i
enough to be picked.

(A) ready

18) mature

G,

| P

_.?_,' .l 5' o
Now. 26 to 28) : Pick out

(A)  beastly
(B)  human
(C)  Inhuman

(D) natura

20, The present population of a village

I8 8,000, If every year the population
increases at the rate of 10%, what
shall be the population of the village

after three years 7 " &0
— bR

(A) 18,048 oo

- tq{fu S—
((B)) 10848 “H A

- ' i

|th 1

(C) 16480 - .~

a2

fiMa A A



. aa.ou:ofafosmdensinadmh:
ays. Howmany tailors are requireq _ AVerage weight of 18 students is
Sy e 20kgandmeavarageo=fremﬁnﬁ'lﬂ
12 students have average weight
25kg Mathmaavamgewaigmﬂf 4
allﬂw30ﬂudm0fﬂlﬂdm? -

istance aqualtcthedlstanceofrls

are given below rf,

dlameter ?  py LI
5 ; s Expenditures of a Company 4
(A o5 minules S —F R % 2 ‘:P” (in Lakh Rupees) per annum
15 ’ Uu = over the gmn mr“ r
(8) 5 minutes n=$m ‘
i—r—‘ Y ""'m v e %
L. e U .
(C) 2 minutes 1 .:.-f-’l;‘ E ‘
o == |
) ‘23—3 minutes ST ™
5 34. Thetotal ofthe company |
32. Whatis 20% of 40% ? these items during the year 2012

is:
(A) Rs.612.12lakhs

(’(A}f 8% foo - Yo X 2¢ ¢ “'?,—,

®) 80%
(B) Rs.478.87 lakhs LR

(C) 60% - ety 'y FY |

(D) 6% (C) Rs.446.46lakhs TR

@ Re.544.44 lakhs 4 27 A

.Jl-.‘;i

KK - 2D/32 (8) E . |
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@‘WM&B C, D Eﬂn

H‘iﬂmﬂnmﬂiﬂnmw
; : Sodents Appasring Compatitive Exars i Dfferent Townt
year which the
v II = - a3 -
ompany had to pay during this l:r i‘\ . T
In \\ }"f
period 7 I: -
(A) Rs.33.72lakhs !.:
PR S g

(B) Rs.34.66 lakhs

A l25 +
(C) ' Rs. 36.66 lakhs 38. What is the ratio of number of
(D) Rs.37.77 lakhs students appearing for the
competitive examination from town B
- 37. The total amount of bonus paid by the
\ ‘ to that from town A ?
_company during the given period is ‘ S f'j, l%
3 . ) 1St o o7 |
approximately what percent of the Yo
- B 13:15
‘otal amount of salary paid during this
: (C) 16:15
..
@j‘ 13:16

.'“' 125%
™~y ®) ol

b1
{5

'.ah

r
%
-

'r'!.

o

"
o



.-; appeaﬂng for the competitive

| examination from town G2
o
L (approximation to be done nearest

(D) 342%

L Direction (Q. Nos. 41 to 50) : Read the
2  following two passages and answer the

| ﬂuesﬁons that follow each passage. Your
) 2nswers to these questions should beé

based on the passages only. -

KK - 2D/32

[Emperor Akbar requesting that Birbal be

| ~ integer) fow? ~ ;*E:Sr
(A) 341% ‘Z‘f
- t
- 00y
243% VL :_—_—/
.{@ 273% Y
Y oy

(10)

Passage — 1
The Shah of Persia had heard of
Birbal's.intelligence and he wrote to

allowd?.:él to visit his Court. Akbar was
pleased because he wasextrernely proud !
of Birbal, and sent him to the Persian court
in all splendor.
As soon as Birbal reache
Parsian capital, the Shah‘ sent fo m.
Whan he reached the royal audience

 chamber, he saw a semi-circular

arrange,mentof seats. In each of them was

a weiLdressed regal figure and all of them

were dressed exactly alike. Anyone of
them could have baen the Shah of
Persia. Birbal stopped for a while, then
looked keenly, went and bowed to the real
Shah.

Taken aback by this, the Shah of -
Persia listened to Birbal's flowery
address and replied in the same flowery
language. Then he asked, “Your
Majesty | When | looked round, | found
everyone looking at you.'Only you did not
look at anyone. | knew at once who the
real Shah of Persia was.” The Shah

bestowed upon Birbal the title Ocean of

Contd.



Intelligence by which men knew him ever 44 The Shah of Persia was taken
" * M sy the way in which Birbal

after.
mm . fec i him. In other words,
41. The Shlh bf Pﬂ'sia_ ijal g il
T s i o
' (A) Wasperturbed
5 (B) Wasbﬁym
M(E) Was tumed back
; 45. fha author has used the word
| Mm@_ragnl flowery to show that Birbal :
__ phraae a reqal figure ~ (A) Wasahandsomeman

(B) Was fond of flowers

(C) Wasava{ynoblenﬁn

" A royal person
(B) Anordinary person @ Was very bEMEd

(C) Atypical person Passage — 2

(D) An eccentric person The greatest enemy of nd, as

people have discovered is not science, but

43. Emperor Akbar sent Birbal to Persia
@Sdenea merely reflects the pervailing
in splendor. rined phrase '
splendor. The underineci social forces. Itis found that when there is
here means:: g
(A) Inallglory and pomp is war, and science is perverted to
8) Inall richness and majesty @nﬂs. The weapons which
science gives us do not necessarily cause

. Sl majesty and glory

© war, they make war increasingly terrible.
) In all humility- and grace B

. Till now, it has brought us to the doorstep
VY (11) (Tum over)



keep u@ﬂﬂh our awn mauntmg (C) Science is restricted to be
mpacﬂytodg?t{py?mahs the question mwwm ?; R’ -
we shall have to answer one way or the (D) wmwmﬂw "
| mﬂfiﬂtﬁsgenﬁaﬂﬂsmmmmb are notused to launch awar x o7
e ¢ :
us in arriving at the answer, but the main i adig 15 he SeHEF, he - :?f
decision lies within ourselves. T o |
46. According to the writer, the real . Stop el B B
Ilect]. "
enemy of mankind is not science, but 3 = ﬁ‘.
e
use: = :
war beca (B) Stop science activities every- e
(A) Science merely invents the : A
weapons with which war is ©) war 3¢
(D) Prevent scientist
5‘;enmd ring wars becomes s from
(B) Sciencedu ® partcioaing |
. pating in destryctive
f destructive it
KK — 2D/32 (12)



40. Our mounting saga

-dlrc,....

can be ur

) as above

{:1}; Carry close to death and
destruction ©

(B) Head to the threshold of a new
destiny > :

(C) Indulge in a ruinous activity

(D) Introduces to an unpredictable

destiny X

ﬂlncﬁon (Q. Nos. 51 toﬂ)} m

authaﬁiy of the Vedas. V ile

I - “IE‘II- -_|:':. :... VAR
tradition @ dvot:ata renunciaﬂen

Shramanik tradition favours asoeetldun.fﬁr' -

the attainment of emancipatlon from the' '

mtseryofﬂmqrdadbﬂtm\ddeam v

Buddhlﬂﬂﬂmbdmbﬂle

3

Shramanik tradition. There were many

e ‘;j-t Tt

other Shramanik_-I,__tﬁr,adlﬂnn;l" called *-

A
O
A
,l'\'us'.

LAk )
SEES
l!g.'
CuS iy

'1'l
¥
AN

'\:'r n

_'u-uh‘



'BC) and Kanishka (First Century AD) who
:  spread it across their empire and helped
it spread outside India, especially its

border states.

Jainism too enjoyed the patronage
e ke

———

- of Chandragupta Maurya (Early Fourth

Century BC), Kharvela (Second Century

i

BC) and Kumarpala (Twelfth Century AD),

they did not proselytize Jainism outside the

boundaries of their empires.

KK - 2D/32

“around 1200 AD, after the advent of

- (14)

L= #_.__F-.-—‘.-‘*

! .‘.L 7
ek

and Buddhism was the natur

inherent doctrines. 4
-.___._________-H'

The primary reason for the uproot of

Buddhism from India was that it did not

prescribe any code of conduct for the

layman. In it there is detailed code of ~
conduct for the bhikhug. and bhikkhunis

residing in the Buddha Viharas but there “

—

is no prescribed !'ula_s_ar}d_[.e_gqlgtigqg_ of =

conduct for the laity.

e

Buddhism preached the abandon- I

ment of the extremes, and adoption of the ‘
middle path. It recommended moderation
Contd.



- 82, Shankaracharya uprooteq from

India :
Buddhism
(B) Jainism
(C) “Brahmanism
(D) Allreligions

53.. Buddhism has a code of conductfor - -

i (A)  Both for common man and for
ip_ Practicing the

ik had to follow the bhikkhus and bhikkhunis
Onginallypmﬁm'bw for (B) Neither for common man nor
he Agama granthas wa'thcu for bhikkhus and bhikkhunis

Bention or laxity. Right conduct for Jainas (C) Common man but not for

to adopt the rules of discipline bhikkhus and bhikkhunis

— T e
? escribed in the Jaina agmas’, Itis difficult @ Not far commen man but for

outsider to grasp, much less follow,

or 219 bhikkhus and bhikkhunis
Is extreme adherence to the vows by the
— 54, Whichoneofmefoilowingishw?
ainas.
T 4 (A) Both Jainism and Buddhism
91. Shramanik tradition :

flourished in India alone
(A) Believe in the authority of the

(B) Both Buddhism and Jainism
Vedas

flourished abroad
\(B)"Do not believe in the authority =

@Jalnism flourished in India and
of the Vedas

Buddhism flourished abroad
(©) Is indifferent to Vedas (D) Buddhism fiourished in India

© Is not a part of the Indian B Jaimm-ﬂourished abroad

Phi h
hiosopty ( Tum over)
KK‘?D!32 (15)



55. Which one of the following is

] J.nurrad? i
(A) Both Buddhism- and Jainism

| -mwnmww i

W e ." a 7 ;\ X
13) Jﬂinliﬁgﬂuwa fﬂaxibility in
following the rules of conduct,
but Buddhism does not ){

-

(,;) Jainism Qoas not allow
| fnllmmng the rules
, %& but Buddhism does
? '.rs'ﬂ

dhism and Jainism do
fot allow flexibility in following

' 'Ihe rules of conduct

Passage — 2

The notion of Sﬂadeshi occupies a

- pivotal place in Gandhi's thought and

—

practlces The centrality of the notion of

&mdeslﬁmnhegaugedfmmthefadmat

'JIGandm beheved ﬂtattheway to Swaraj is

TR '8 LA

-mmuhbeabbmmhaneqm

' strengrh Oursuengﬂfmﬂnw

(16)

‘and just social order.

ped goippem Sk
" Gandhidoes not use ‘Swadeshi’ in

its literal sense viz., ‘of one’s own country’
e = -
alone. According to hi .Swadashi

—

not mean merely the use of what is
produced in one’s own country. Swadeshi

actually. means rahancroﬂ ﬂ W

of our body, our mind and our soul. So, "

Swadeshi operates not only in the physical

realm but it is also a spiritual principle.
B mi——

While negatively Mdeshl means

that the foreign goods should not be

purchased at the peril of goods produced

mdngeneously positively it means that we

b SR ALY

3 ,

should collectively apply * our bralns to the
production of things as a substitute for
SO MESSE O1 I e indiganous
goods and services. Swadeshi does not

mean exclusion of everything foreign under




(A) Swaraj cannot be achieved

) - through Swadeshi

(B) Swaraj and Swadeshi are not
related

'@mt&] can be achieved only
through Swadeshi

(D) Swadeshi can be achieved
through Swaraj
___,_,_--"

57. The principle of Swadeshi operates :
(A) Onlyinthe physrcal realm

(B) Only mﬂm ap1rii:ual realm

8, including oneself. It is a principle
o (C) Nevtlﬂhﬂmphyslcmnmmme

which aims at the improvement and benefit e

. A Swadeshist has to voluntarily Inthe physical as well as in the
re to the principle of self-denial of spiritual realms

goods at the cost of personal

68. The principle of Swadeshi is based

inconvenience. He has to make

e — on:

Wus and persistent effort to (A) Narrow patriotic principle
hmmvaﬂzoqual@otgoodspmduwdfn (B) Harming our enemies

hinmmﬁy !.atnwcnndldebymﬂﬂt @ Humantiarien princiole

[V o6 & globel prachon, M S O (D) The principle of doing good to e
._ 3 the quality of goods and unite the our distant neighbours at the 24
. r_hglﬂ_;nndmakeevorynaﬁmsen- cost of our naxt door

—_—

KK-20132 (17) (Tum over)




Both(A)and(B) ’
Economic degeneration (D) Neither () nor (B) . '['
D) ) Just social order _ '
- Direction (Q. Nos. 64 to 68) : Fill in the ¢
Which kind of communication is blanks.
Ny
~ represented by Culourgraphics ? 64. "l have a glass of milk.”
~ (A) Verbal @ drank 1
(B) Non-verbal , (B) drunk y
((©)) Visual @3 drink r
1 _

KK~ 20730 | (18) Contd.



et ﬂMon{a. Nos. dsw?‘Jﬁ WM 25

'ﬁﬁt-pairofpantsdidnot at'r of wo;ds amﬁ“ a mm v
. Mﬂmﬂﬁwfﬂmw Sdndﬂ:e:m

? N

e 1 .

(C) theothers ones

 Shaili has not

A lived lonelynessly in ﬂmal

o R

previous S .-s

®) never bafcnﬂvadw

MO
!\

o e U

t.'
i




ball is to be drawn from either of the
L two bags. What is the chance of
drawing a red ball ?

(A) 35/110

371120

(C) 15/84

g . (D) 21/60
~ (B) Goalkeeper: Soccer

(C) Racket : Tennis 75. Karthik started a business inmting

(D) Cricket : Bat Rs. 8,000. After 5 months, Shyam

73. Love: Obsession: : joined with a capital of Rs. 8,000. If
(A) Happiness : Victory at the end of the year they eam a
(B) Amity.: Enmity profit of Rs. 6,970, then what will be
@ Enemy : Hatred the share of Shyam in the profit ? |
(D) Sorrow : Misery (A) Rs.2480 })‘ )“\’
(8) Rs.2 g om'“ 3
74. There are two bags, one of which (728 =gy ‘_
2 LHI : F ! 70 i
contains 5 red and 7 white balls and Vool 'y 58
. G Tl el =
t!'laoﬂ'ler:imdmdﬂwIWbaluA Rs.2,380 }?Go?g X
1A j: i "
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nutes

e following equation for

/3= 24/5 -__E,___ 2Y

28 T 5=

A) —7.2 i :
: . Ay
G 72 ';Q;;;'.': <Y
(©) 36

(D) -3.6
78. [fAarushiis 6 years older than Inaya, 0) 6 PR
and Vishnu is 5 years older than

Il'.llllllllll-

K 043648
A o i o

(Tumover)
¢ T4 =M1
Ei, 11N (21)
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